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z-Expansion
mµ = 4.95 µ, -410× = -2.02∈
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60− 40− 20− 0 20 40 60

m]µ) [
B

 - pred
B

 - (hit
A

 - predAhit

0

0.05

0.1

0.15

0.2

0.25

0.3

F
ra

ct
io

n 
of

 E
ve

nt
s

 Simulation CMS           13 TeV

Radial
mµ = 5.37  µ, -410× = -5∈

mµ = 1.856  µ, -410× = -2.5∈
mµ = -1.65 µideal, 

mµ = -5.15 µ, -410× = 2.5∈
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Twist
-1 cm-610× = -2.04∈
-1 cm-610× = -1.02∈
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Telescope
 = -1.73  rms = 1.16µ, -410× = -5∈

 = -0.906  rms = 1.16µ, -410× = -2.5∈
 =  0.0034  rms = 1.11µideal, 

 =  0.911  rms = 1.20µ, -410× = 2∈
 =  1.74  rms = 1.34µ, -410× = 5∈
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Bowing
mµ = 24.89 µ, -2 cm-910× = -6.77∈
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Layer Rotation

 e/GeV-310× = 1.93µ, -1 cm-610× = -9.43∈
 e/GeV-310× = 1.05µ, -1 cm-610× = -4.72∈

 e/GeV-310× = 0.013µideal, 
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+C)]φ=Atanh(BZd∆Skew [
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+B)]φ=-Asin(2xyd∆Elliptical [
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+B)]φ=-Acos(φ∆Sagitta [
 rad-410× , A = 6.0-410× = 5.0∈
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